MIAMI-DADE COUNTY

e PRODUCT CONTROL SECTION
BUILDING AND NEIGHBORHOOD COMPLIANCE DEPARTMENT (BNC) 11805 SW 26 Street, Room 208
BOARD AND CODE ADMINISTRATION DIVISION Miami, Florida 33175-2474

T (786) 315-2590  F (786) 315-2599
NOTICE OF ACCEPTANCE (NOA) www.miamidade.gov/building

Twin City Fan Companies, Ltd.
5959 Trenton Lane North
Minneapolis, MN 55442

ScorE:

This NOA is being issued under the applicable rules and regulations governing the use of construction
materials. The documentation submitted has been reviewed and accepted by Miami-Dade County BNC -
Product Control Section to be used in Miami Dade County and other areas where allowed by the Authority
Having Jurisdiction (AHT).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product
Control Section (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve
the right to have this product or material tested for quality assurance purposes. If this product or material
fails to perform in the accepted manner, the manufacturer will incur the expense of such testing and the AHJ
may immediately revoke, modify, or suspend the use of such product or material within their jurisdiction.
BNC reserves the right to revoke this acceptance, if it is determined by Miami-Dade County Product
Control Section that this product or material fails to meet the requirements of the applicable building code.
This product is approved as described herein, and has been designed to comply with the Florida Building
Code, including the High Velocity Hurricane Zone.

DESCRIPTION: Spun Aluminum Rooftop Fans

APPROVAL DOCUMENT: Drawing No. AS/BS MD1006, titled “BCRD / DCRD / BCRU / BCRUR /
DCRU / DCRUR Summary” sheets 1 through 10 of 10, dated 01/18/11, with Revision B dated 03/11/11,
prepared by Twin City Fan Companies, Ltd,, signed and sealed by L. David Rice, P.E., bearing the Miami-
Dade County Product Control approval stamp with the Notice of Acceptance number and approval date by
the Miami-Dade County Product Control Section.

MISSILE IMPACT RATING: Large and Small Missile Impact Resistant

LLABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, Elkton, SD and
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been
no change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change
in the materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement
of any product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure
to comply with any section of this NOA shall be cause for termination and removal of NOA.,
ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and
followed by the expiration date may be displayed in advertising literature. If any portion of the NOA is
displayed, then it shall be done in its entirety,

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its
distributors and shall be available for inspection at the job site at the request of the Building Official.

This NOA consists of this page 1 and evidence page E-1, as well as approval document mentioned above.
The submitted documentation was reviewed by Carlos M. Utrera, P.E.

NOA No. 11-0126.08
Expiration Date: April 14, 2016
Approval Date: April 14, 2011

04-/07/” Page 1




Twin City Fan Companies, Litd.

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

A. DRAWINGS
1, Drawing No. AS/BS MD1006, titled “BCRD / DCRD / BCRU/BCRUR / DCRU/
DCRUR Summary” sheets 1 through 10 of 10, dated 01/18/11, with Revision B dated
03/11/11, prepared by Twin City Fan Companies, Ltd., signed and sealed by L. David
Rice, P.E.

B. TESTS
1. Test report on 1) Uniform Static Air Pressure Test, Loading per FBC, TAS 202-94
2) Large Missile Impact Test per FBC, TAS 201-94
along with marked-up drawings and installation diagram of three Series/Model BCRD
360D Aluminum Roof Fans, prepared by Stork Twin City Testing Corporation, Test
Report No. TCT005078-0210.1, dated 01/03/11, signed and sealed by Thomas A.
Kolden, P.E.
2, Test report on 1) Uniform Static Air Pressure Test, Loading per FBC, TAS 202-94
2) Large Missile Impact Test per FBC, TAS 201-94,
along with marked-up drawings and installation diagram of three Series/Model BCRU
360B Aluminum Roof Fans, prepared by Stork Twin City Testing Corporation, Test
Report No. TCT005078-0210.2, dated 01/03/11, signed and sealed by Thomas A.
Kolden, P.E.

C. CALCULATIONS:
1. Anchor verification calculations, prepared by Rice Engineering, dated 01/21/11,
signed and sealed by L. David Rice, P.E.

D. QUALITY ASSURANCE
1. Miami-Dade Building and Neighborhood Compliance Department (BNC)

E. MATERIAL CERTIFICATIONS

1. None.
F. STATEMENTS
1, Statement letter of code conformance with 2007 FBC, issued by Rice Engineering,
dated 01/21/11, signed and sealed by L. David Rice, P.E.
2. No financial interest letter issued by Rice Engineering, dated 01/21/11, signed and

sealed by .. David Rice, P.E.

/ ; 04/07 "

Carlos M. Utrera, P.LE.

Produet Control Examiner
NOA No. 11-0126,08

Expiration Date: April 14, 2016
Approval Date: April 14, 2011




WEIGHT {Ib)
D MAX
[ [] [ [] ] RD 80
DCRD 085B
, DCRD090B | 21.97| 17.00| 15.34 | 15.38 | 2.45 43
‘ G DCRD 0958
e ik
o J DCRD 140B
- 2 : DCRD 1508 | 31.79| 24.00 20.29 | 24.25 | 4.51 77
MAX DCRD 1608 | 31.79 | 24.00| 20.29 | 24.25 | 4.51 82
c e = - ; =" > D 180 9{30.00 [ 1568] 1
\ o ° / N E BCRD 070D 6.81 | 17.00 | 15.25 | 22.25 | 2.05 | 5.54 | 14.59 70
) = 0 -4~ r BCRDO75D. | 26.81]17.00|15.25| 22.25| 2.05 | 554 | 1459| - 70
: _ ] BCRD085D |[28.41]17.00( 15,25 22.25| 2.41 | 6.25 | 15.34 95
| o MAN———— |
 —— — B INSIDE - RICE
~ : DA MAX BCRD 160D/DHP | 34.01 | 26.00 | 21.26 | 24.25{ 3.39 | 7.50 | 18.09 145 e GINEERING
NOTES: BCRD 180D/DHP | 40.19 | 30.00 | 27.51 | 30.25| 3.72 | 9.50 | 20.59 170 108 SOl Croon 1ot
1. MODEL BCRD & DCRD HAVE BEEN SUCCESSFULLY TESTED BCRD 210D/DHP | 4 Luxemburg, Wi 54217
ACCORDANCE WITH THE MIAMI-DADE TEST PROTOCOL ;’hO_"e' 222%-88%‘]%‘;%
TAS-201 (LARGE MISSLE IMPACT) AND TAS-202 (STATIC LOADING). O e oAIC
2. THIS FAN HAS NOT BEEN TESTED FOR WIND DRIVEN RAIN ' '
PER FBC, TAS 100(A). Floricios Firm No: F-0100000506]
3. THIS APPROVAL IS FOR THE STRUCTURAL PERFORMANCE AND /BCRD 360D/LHP |62.47 B50.27] 6.78 | 1321 | 24.42) 5 ; Florida Firm No: 101000005061
IMPACT RESISTANCE ONLY. INTERIOR MECHANISM AND/OR L. David Rice
ELECTRICAL CIRCUITRY ARE OUTISDE THE SCOPE OF THIS Registration No: 50923
APPROVAL. DRAWN BY . N _
4. ROOF STnug[giED MUST BE DESIGNED TOOWI'Il;I-_{%TAND THE A D™ > Twin City Fan Companies, Ltd.
EIGHT AN TRANSMITTED BY ROOF TOP FANS. e & T T Ty 2
FASTENERS SHALL BE AS SPECIFIED AND INSTALLED AS DETAILED, | o-'! o oA e sventoq ® Twin City Fam & B
5. DESIGN TECSglNG AND INSTALLATION CONFORMS TO FLORIDA SAM : 5959 Trenton Lane - Minneapolfs, MN 55442-3238
BUILDING DE. BATE
6. FAN CURBS MUST BE ANCHORED TO ROOF FRAMING MEMBERS 1rgiz0t1 | TE S
AND NOT TO THE ROOFING SYSTEM. i BCRD/DCRD SUMMARY §
, ' ‘ MIAMI-DADE APPROVAL 5
’ ’ ASME Y14.5 2009 = *
i i DEFAULT JOLERANGES SCALE DRAWING NO. SHEET JTEM REV. =o
REMOVED BCRDE/ENDUREX MODEL, UNLESS QTHERWISE EY
B | 31172011 | JAW | SAM| ADDED MATERIAL THICKNESS GHARTS e, 2w |NTS|AS MD1006 |1 0f 10 B Sl op \ DRSS
REV|ECN| DATE | BY |CHK DESCRIPTION R, hag ot tkos: 7,58 [ e \O
,’Ill’ ONAL \\\\\\
LTI

Mar. 22, 2011



- DESIGN LIMITS
MAX: WIND VELOCITY : 150 MPH (67 m/s)
MAX: DESIGN LOAD: - 65 pst (3.11 kPa)
MAX: OVERALL UNIT HEIGHT: 44.41'In (1.13 m)
MAX: ENCLOSURE DIAMETER: 62.47 in (1.59 m)

TIE DOWN BRACKET

1/4-20 TAPTITE SCREW
OR EQUIVALENT

TIE DOWN CABLE

#12-14 DRIL-FLEX SELF

DRILLING SCREW on\\\

EQUIVALENT N

/LID \
" —MOTOR HOUSING IR " DETAILB

— ./ BAND o - SCALE 1 :8

e === —SHROUD
/ o

RICE

ENGINEERING

105 School Creek Trail
Luxemburg, WI 54217
Phone: 920.845,1042
Fax; 920.845.1048

L] & N N
R . \\( ﬂ B | . i SH HOUD SUPPORT Www.rice-Iinc.com
] ~__ .~ SUPPORT POST — - BRACKET Florida Firm No: F-01000005061
A - - SECTION A-A Certificate of Authorization: #9090
L. David Rice
CUTOFF Registration No: 50923
DRAWN BY
A DM > Twin City Fan Companies, Ltd.
CURB CAP 1118/2011 Aerovent ® Fibor-Anc ® TC Axial ® TC Venico ® Twin City Fon & Blower
Member of Air Movement and Control Assoctation v
CHEOBY 5959 Trenton Lanc - Minncapolis, MN 55442-3238 Wil /
DATE \‘\ VA

nezon | ™ BCRD/DCRD SUMMARY

PART NO.

MIAMI-DADE APPROVAL 5

ASME Y14.5 2009 : =

_ i ___ IDEFAULT TOLERANGES SCALE DRAWING NO, SHEET ITEM REV. =

o REMOVED BCRDE/ENDUREX MODEL, GREGIFED . %%
B 8/11/2011 | JAW | SAM| ADDED MATERIAL THICKNESS CHARTS wer e | NTSTAS MD1006 | 20110 | B TR
REV | ECN| DATE | BY |CHK| DESCRIPTION G050 170010 com0 1f 63+ S 10 AN
K "mﬂ |A| |\|'|m\‘ W

Mar. 22, 2011



HOOF CURB ROCF CURB

#12-14 DRIL-FLEX #10 ZINC PLATED
SELF DRILLING SCREW WOOD SCREW
ROOF TRUSS WOOD TIMBER
1/8' THICK OR MIN. 2 NOM. THICKNESS
12 GA. MiN, j MIN. S.G = 0.55
¢ I IJJ_L 1N
.1084 MiN. THREAD
ENGAGEMENT
1.50 MIN. THREAD
PENETRATION
T - TIMBER ANCHORING
STEEL ANCHORING
FASTENER TABLE
MINIMUM NUMBER OF FASTENERS PER SIDE | MIN, NUMBER
ROOF GURB TO ATTACH CURB TO ROOF STRUCTURE | OF FASTENERS
MODEL CONCRETE : PER SIDE TO
STEEL TIMBER =} ATIACH UNIT TO
1/4" STAINLESS STEEL G DECK NCHORNG
HILITI KWIK BOLT 8 ANCHORING | ANCHORING | ANCHORIN CURB
EXPANSION ANCHOR DCRD 0608 3 3 3 3
DCRD 0708 3 3 3 3
2000 MIN. PSI
CONCRETE DCRD 080B 3 3 3 3
DCRD 085B 3 3 3 3
DCRD 0908 3 3 3 3
: DCRD 0958 3 3 3 3
2,00 MiIN, ' : DCRD 1008 3 3 3 3
EMBEDMENT CONCRETE DECK ANCHORING DCRD 1208 3 3 3 3
: S DCRD 1308 3 3 3 3
_ o DCRD 1408 3 3 3 3 _
. CURB NOTES: . N . DCRD 150B 3 3 3 3 p -
+ MATERIAL: 18 GA GALVANIZED STEEL DCRD 1605 3 3 3 3 RIC E
0.063 ALUMINUM DR T 2 2 3 3
*  UNIT TQ BE ATTAGHED TO CURB USING #12-14 DRIL-FLEX —
PR T SR R SR s e e e m—— 3 e G
: BCRD 070D 3 3 3 3 105 School Creek Trail
. TRUCT
curs MHSIL ge ATTACHED TO A STRUCTURAL MEMBER OF BCRD 0750 3 S 5 3 Lixemburg, W1 54217
O RE ANGHORAGE SHOULD BE INTO HeKE DS 2 3 : 2 Phone: 920.845.1042
MINIMUM 2000 PS| CONGRETE BCS&‘S?%BHP g > 2 g Fax:  ~ 920.845.1048
2.00 +  USE 1/4" DIA. STAINLESS STEEL HILTI KWIK BOLT 3 www.rice-inc.com
g)lflPANSION AN&:—A{?&S “cnzn %%LQEGIMENT. ANGI?_%SSRS BCRD 140D/DHF 3 3 3 3
ALL HAVE A 2 ENT. FAS BCRD 140D/DHP 3 3 3 ida Fi : F-
TO BE EQUALLY SPACED. MAXIMUM ON GENTER ECRD 180D§DHP 3 3 - g’ Florida Firn No: F-01000005061
SPACING OF 24- 3/4" WITH 4-1/2" MINIMUM SPACING Cerfificate of Authorization: #9090
SEGURE GURE TO ROOE . Ifwg 8-1; : Mtljrg%gwE EDGE DISTANCE. BCRD 2100/DHP 3 3 4 g L. Bavid Rice
«  STEEL ROOF STR BCRD 2400/DHP 3 3 4 istrafi :
FRAMING MEMBERS BY N SHOULD BE INTO MINIMUM BCRD 300D;DHP 3 3 7 3 Registration No: 50923
DRILLING 1/4* PILOT HOLES 2.00 12 GA OR 1/8" THICK STEEL MEMBER,
IN THE CURB FLANGE AT EQUALLY . USE #12-14 DRIL-FLEX SELF DRILLING SCREWS OR | BCRD 360D/DHP 3 3 5 3
LOCATIONS SHOWN IN THE SPACED EQUIVALENT, SCREWS SHALL HAVE A MINIMUM THREAD LI . .
DIAGRAM. SEE TABLE FOR ENGAGEMENT OF .1084", FASTENERS TO BE EQUALLY o B >Twin City Fan Companies, Ltd.
MINIMUM QUANTITY OF | - SPACED, MAXIMUM ON CENTER SPACING OF 24-3/4" 1/38/2011 Acrovent 8 Fiber-Aire ® TC Axial ® TC Ventce @ Tywin City Fea & Dlower
ANGHORS REQUIRED PER 1.25 WITH 11/16” MINIMUM SPACING AND 3/8" MINIMUM SRS Mentber of Air Movement and Conteol Assaciali
CURB SIDE. EDGE DISTANCE. SAM 5959 Trenton Lane - Minncapolis, MN 55442-3238
. TEMBESR ROOF ST!?VILIJS&.{JI?\ES - DATE p—
. HOULD BE G.=0. g0t BCRD/DCRD SUMMARY
+  USE #10 ZINC PLATED WOOD SCREWS OR FARTIE: MIA If DigE APPROVAL
EQUIVALENT. SCREWS SHALL HAVE A MINIMUM THREAD I MI- "PRO
‘ PENETRATION OF 1 1 EASTENCES TODEEQUALLY ™ | e S T 5
PACED, MAXIM TE ING OF 16-3/4" REFALT TOLERANO SOALE DRAWING NO. . -~
N . REMOVED BCRDE/ENDUREX MODEL, WITH 3/4" MINIMUM SPACING, 3/4" MINIMUM EDGE SeeikED . E
5 S/TU2OT |JAW | SAM ADDED MATERIAL THICKNESS GHAITS DISTANGE AND 1.316" MINIMUM END DISTANCE. pon ponn, | NTSIBS MD1006 (3 of 10 B =
REV [ECN] DATE - | BY | CHK DESCRIPTION . 5, 188 0 1Y : : =
:,,".""Rm“?“\ 2 & O
TS
¥,
U

Mar. 22, 2011




44613

—MIN. MATERIAL:
ALUMINUM 3003-H14

CURB CAP

(SEE TABLE FOR THICKNESS)

MIN. MATERIAL:
18 GA GALVANIZED

BCRD DCRD |[CURBCAP| LD sHrRouD | SUFEORT
- ~_060B
070D ~ 0708
070 | .. -
- . 0808 . .
085D | 0858 063
- 0908 -
- . 0958 -
120D 1208 (.079)
- 130B .032 063
- 1408 .080
140D/DHP - 063
- 1508
A 1608 080
160D/DHP - 083
- 170B
180D/DHP 1808
210D/DHP - 080 ]{2“_%/)\
240D/DHP ‘ .
300D/DHP 10 GA
360D/DHP 040 080 A
— REMOVED BGRDE/ENDUREX MODEL,
B 8/11/2011 | JAW | SAM| ApDED MATERIAL THICKNESS CHARTS

REV [ ECN DATE

*| BY. | CHK

DESCRIPTION

MIN. MATERIAL:
ALUMINUM 3003-H14

@ 50.27 MAX

(SEE TABLE FOR THICKNESS)

MIN. MATERIAL: ALUMINUM

(SEE TABLE FOR THIGKNESS)

LID

MIN. MATERIAL:
18 GA GALVANIZED

SUPPORT
POST

SHROUD SUPPORT -
BRACKET ’

1.25

MIN. MATERIAL:
.188 ALUMINUM 3003-H14 1.25

MIN, MATERIAL.
040 ALUMINUM

@ 50.08 MAX

MIN. MATERIAL: GALVANIZED
(SEE TABLE FOR THICKNESS} -

SHROUD

- MOTOR HOUSING
BAND

MiIN. MATERIAL:
1/8" 302 STAINLESS STEEL CABLE
(7X190R7X7)

TIE DOWN BRACKET

L 2425 MAX

TIE DOWN CABLE
(SIZE 170 AND LARGER)

[DRAWN BY

SAM

o B - Twin City Fan Companies, Ltd.
11182011 Acrovent & Fiber-Aire @ TC Axial ® TC Venico ® Tiwin City Fan & Blower
CHRD BY Meniber of Air Mavement and Control Association

5959 Trenton Lanc - Miuneapolis, MN §5442-3238

DATE FFILE

3 inejao BCRD/DCRD SUMMARY
MIAMI-DADE APPROVAL
ASHIE Y135 2000
A TDMERIcES SCALE DRAWING ND. SHEET "ITEW REV.
s o0 o | NTS| BS MD10086 |4 of 10 B

.00 +2-0020 000 +4-08*
1000 +/- 0010 0.0 +- 05

e il
Duto /

RICE
ENGINEERING

105 School Creek Trail
Luxemburg, Wl 54217
Phone: 920.B45.1042

Fax: 920.845,1048
www rice-inc.com

Florida Firm No: F-01000005061

Certificate of Authorization: #909
L. David Rice .
Registration No: 50923

b. 2/128/2013
STATE OF

Mar. 22, 2011



MOTOR HOUSING -

| BAND
RIVET, 3/16 X 7/32 LG.

WASHER, RUBBER
5/16"1.D. X1 1/4" O.D.

SHROUD

TIE-DOWN BRACKET

SCREW, TAPTITE
1/4-20 X 3/4" LG

TIE-DOWN ASSEMBLY -

SCREW, DRIL-FLEX
#12-14

FLAT WASHER, 1/4"

MOUNTING CLIP - SUPPORT POST

"

SCREW, TAPTITE
5/16-18 X 3/4° LG

NUT, WHIZLOC
5/16-18 ZP

MOTOR DECK
PLATE

/
SUPPORT POST

SCREW, TAPTITE
5/16-18 X 1" LG SEALING WASHER

11/ 5/16" 1.D. X 1" O.D.
. == SCREW, TAPTITE

- 5/16-18 X 1" LG

SCREW, TAPTITE BIRDSCREEN

1/4-20 X 3/4" LG

FLAT WASHER, 1/4"
SCREW, DRILL _
1/4-14 X 3/4" LG. -

* SHROUD SUPPORT
BRACKET

SCREW, DRILL

1/414 X 3/4" LG SUPPORT POST

FLAT WASHER, 1/4"

DRAWN BY
SCREW, TAPTITE S W 5Twin City Fan Companies, Ltd.
1/4-20 X 3/4" LG . 1118/2011 Aciovent ® Fibor-Alie ® TC Axial @ TC Ventco ® Twin City Fan & Blower
EHKD BY - Member of Air Movement and Counfrol Association
MOTOR HOUSING SAM 35959 Trenton Lane - Minncapolis, MN 55442-3238
BAND DATE TITLE
L BCRD/DCRD SUMMARY
MIAMI-DADE APPROVAL
ASME Y14.5 2009 ,
. i DEFALLT TOLERANCES SCALE DRAWING NO, SHEET ITEM REV.
1o _ REMOVED BCRDE/ENDUREX MODEL, ONLE RS QTHERWISE : .
B - [-3/11/2011 | JAW | SAM| 4
1172011 ADDED MATERIAL THICKNESS CHARTS wen 2 | NTSIAS MD1006 |5 0f 10 B
REV | ECN}* DATE | BY [ CHK DESCRIPTION 005 40010 5500 1105+ .

ENGINEERING
105 School Creek Trail
Luxemburg, Wl 54217
Phone: 920.845.1042
Fax: 920.845.1048 .
www rice-inc.com

Florida Firm No: F-01000005061
Cerlificate of Authorization: #9020
L. David Rice

Regisiration No: 50923

: oy, P[ \ “\*“&#\%s

'y, OR o o
2, R c’ &
'l/;f/ ONAL %\\\\\\“\
LTI
Mar. 22, 2011



Lo , MODEL A B C D E F | WEIGHT (Ib)
- BD MAX — - e G o AU, M B
' IO VTN G —
_ i an
[] (] [] UL . 70 A
E DCRU/R 110B 22.1220.25| 30.00 | N/A | 28.00 110
( MAX DCRU/R 120B 22.12|20.25| 30.00 | N/A | 28.00 114
c ! ! e CRU/R 140B 0| 22.12 | 20.25] 30.00 | N/A | 28.00 120
. 0 o . F 'BCRU/R120B | 24.00] 22.14 | 20.25 | 30.00 | N/A | 28.00 145
MAX BCRU/R 140B | 24.00| 22.14 | 20.25 | 30.00| N/A | 28.00 159
BCRU/R 140BHP | 24.00| 22.14{ 20.25 | 30.00! 0.48 | 28.00 159
,\\ - - /! BCRU/R 160BMP | 24.00| 22.14 | 20.25 | 30.00| 0.61 | 28.00 170
w.b ° : ° -; : - BCRU/R180B | 30.00|23.99 |24.25|36.00| 2.48 [30.00 185
: y L ' BCRU/R 180BHP | 30.00|23.99 | 24.25 | 36.00| 1.11 | 30.00 95
200
, DB MAX - -
-— A INSIDE : S 0
BCRU/R240B | 34.00 | 32.05{ 30.25 | 45.00] 9.48 | 28.25 230 EAV R T2 Y
NOTES: BCRU/R 240BHP | 34.00 | 32.05 | 30.25 | 45.00 230 1 OSIEJX G,ICNI‘JLI;:RIIN G
1. MODEL BCRU, BCRUR, DCRU & DCRUR HAVE BEEN SUCCESSFULLY BCRU/R 300B 54.00 350 Loxormbong, Wi 54217
TESTED ACCORDANCE WITH THE MIAMI-DADE TEST PROTOCOL bkt e Phone: 920.845.1042
TAS-201 (LARGE MISSLE IMPACT) AND TAS-202 (STATIC LOADING). Fox:  920.845.1048
2. THIS FAN HAS NOT BEEN TESTED FOR WIND DRIVEN RAIN WwWW.HiCe-inG.com
PER FBC, TAS 100(A). o
3. THIS APPROVAL IS FOR THE STRUCTURAL PERFORMANGE AND 46 6300 574 3400 475 Florida Firm No: F-01000005061
IMPACT RESISTANCE ONLY. INTERIOR MECHANISM AND/OR Certificate of Autharization: #9090
ELECTRICAL CIRCUITRY ARE OUTISDE THE SCOPE OF THIS L DA e coona
APPROVAL. — egistration No;
4, ROOF STRUCTURE MUST BE DESIGNED TO WITHSTAND THE JAW TN :
WEIGHT AND LOADING TRANSMITTED BY ROOF TOP FANS. e W >Twin City Fan Companies, Ltd.
FASTENERS SHALL BE AS SPECIFIED AND INSTALLED AS DETAILED. 11872011 |- Acrovent ® Fibor-Afre ® TC Axial ® TC Vamioo ® Twin City Fan & Blower
5. DESIGN TESTING AND INSTALLATION CONFORMS TO FLORIDA CHRG Y Member of Air Movensent and Control Association
BUILDING C O DE. SAM 5959 Trenton Lane - Minncapolis, MN 55442-3238
6. FAN CURBS MUST BE ANCHORED TO ROOF FRAMING MEMBERS DR ot | e
AND NOT TO THE ROOFING SYSTEM. N— BCRU/BCRUR/DCRU/DCRUR SUMMARY §
g 3
MIAMI-DADE APPROVAL g
ASME Y14.5 2009 . . E
- .. DEFAULT TOLERANCES SCALE DRAWING NO. SHEET ITEM AEV. = E
. REMOVED BCRDE/ENDUREX MODEL, . UALESS OTHERWISE = :
B { 3/11/2011 |JAW | SAM ! 205 STATE OF
7 14 ADDED MATERIAL THICKNESS CHARTS e, o NTS|AS MD1006 1610 B »,,’ Ko ...0“’\*\5'
REV | ECN| "DATE | BY [CHK DESCRIPTION beBo 11:68% 8% 1188" 6‘/' """-----““%\\Q\*
ONAL B
' g™

Mar. 22, 2011



DESIGN LIMITS
MAX: WIND VELOCITY : 150 MPH. (67 m/s)
MAX: DESIGN LOAD: +65 psf (3.11 kPa)
MAX: OVERALL UNIT HEIGHT: 44.00 in (1.12 m)
MAX: ENCLOSURE DIAMETER: 63.00 in (1.60 m)
TiE DOWN BRACKET
ST T T~ 1/4-20 TAPTITE SCREW
~ < OR EQUIVALENT
// RN
TiE DOWN CABLE ’/
#12-14 DRIL-FLEX SELF ‘\ \/
DRILLING SCREW OR e
EQUIVALENT "
N [N
. MOTOR HOUSING ' |
. O DETAILB
A SCALE1:12
-"( 1 D o L g
| SHROUD L o ’ ;) ) .
- /_ ] ag il ]____q__]w| 3 _ £=£=.—-.=C'E'
i * ST e e ENGINEERING
105 School Creek Trail
/ Luxemburg, Wi 54217
P 1 HORIZONTAL SUPPORT Pho.ne: 920.845,1042
— 1 )3' SUPPORT POST Vwwrico e Com
W e = — ] Florida Firm No: F-0100000506}
A SECTION A-A Eggl\lfci:c?lt??cc;fAufhorlzchon. #9090
Registration No: 50923
CURB CAP DRAWN BY . . .
A DM 5 Twin City Fan Companies, Ltd.
1/18/2011 Aerovent ® Fiber-Aire ® TC Axial ® TC Ventco ® Twin City Fan & Blower
CHKD BY Member of Air Movement and Control Association
SAM 5959 Trenton Lane - Minneapolis, MN 55442-3238 A
DATE TITLE %
I BCRU/BCRUR/DCRU/DCRUR SUMMARY %,
MIAMI-DADE APPROVAL 1
ASME Y14.5 2009 2
DEFAULT TOLERANCES SCALE DRAWING NO. SHEET ITEM REV. [ ]
REMOVED BCRDE/ENDUREX MODEL, Ry ISE : Loy
B 3/11/2011 | JAW { SAM . , \ Sy S
: / ADDED MATERIAL THICKNESS CHARTS e, o O NTS|AS MD1006 |74 10 B 27 oR 1IN, §"
REY | ECN DATE BY | CHK DESCRIPTION 0000 4% 0010 0000 1r 05+ _ l J /"O"HHA"'\':““\\Q:‘S.\\
iy, \\
a Ut

Mar. 22, 2011



ROOF CURB
ROOF CURB
#1214 DRIL-FLEX
#10 ZING PLATED
SELF DRILLING SCREW WOOD SEREW
ROOF TRUSS WOOD TIMBER
1/8" THICK on MIN. 2 NOM. THIGKNESS
12 GA. :qu MIN. 8.G = 0.55
4N
.1084 MIN. THREAD
ENGAGEMENT
1.50 MIN. THREAD
PEMETRATION
TIMBER ANCHORING
ROOF CURE STEEL ANCHORING
/4" STI_’I\_IiN*_VISISKSBSgEI‘EL FASTENER TABLE
HILI 3 MINIMUM NUMBER OF FASTENERS PER SIDE | MIN. NUMBER
EXPANSION ANCHGCR TO ATTACH CURB TO ROOF STRUCTURE | OF FASTENERS A
MODEL p— CONCRETE | 1pupeR PER SIDE TO Poroved as oomplying with the
2000 MIN. PS| DECK ATTACH UNITTO Floside Bpjdin
CONCRETE ANCHORING | 5\ cHORING | ANCHORING CURB Dwte 2 l:lzig
-DCRU/R 071B-073B 3 3 3 3 NOA® /. JI2h 08
DCRU/R 081B-0838 3 3 3 3 Miami Dade Producy
BCRU/R 071B-0935 3 3 3. 3 By
DCRU/R 110B 3 3 3 3
2,00 MIN, : DCRU/R 1208 3 3 3 3
EMBEDMENT CONGRETE DECK ANCHORING DCRU/R 1408 3 3 3 3
_ _ — DCRU/R 1408 3 3 3 3 _
CUHB NOTES: ° : ~ 1 "DCRU/R180B 3 3 4 3 —
MATERIAL: 1[5)30ng ECLII&?»TLIJZNI‘IED STEEL BCRU/R 110B 3 3 3 -3 RICE,
BCRU/R 1208 3 3 3 3 ——
*  UNIT TO BE ATTACHED TO CURB USING #12-14 DRIL-FLEX
SELF DRILLING SCREWS OR EQUIVALENT. LOCATED 4* BCRU/R 1408/BHP 3 3 3 3 ENGINEERING
FROM EACH GORNER AND AT CENTER OF CURE CAP. BCRU/R 160B/BHP/BMP 3 3 3 3 105 School Creek Trail
" QURBMUST BE ATTACHED TO A STRUCTURAL MEMBER OF BCRU/R 1808/BHP/BMP 3 3 4 3 Luxemburg, WI 54217
. CONCRETE SECK BCRU/R 210B/BHP 3 3 4 3 Phone: 920.845.1042
En]ijr\ﬁnsn GmCHOHSgIEC %I-'L%léllét_i_ EE INTO BCRU/R 240B/BHP 3 3 4 3 Fax:  920.845.1048
2000 o
«  USE 1/4° DIA. STAINLESS STEEL HILTI KWIK BOLT 3 Bgﬁﬁ%gg’ggap g g i g wwwrice-inc.com
EXPANSION ANCHORS OR EQUIVALENT. ANCHORS N
SECURE CURB TO ROOF 49.50 SHALL HAVE A MINIMUM 2" EMBEDMENT. FASTENERS BCRU/R 3608/BHP 3 3 5 3 Florida Firm No: F-01000005061
FRAMING MEMBERS BY MAX TO BE EQUALLY SPACED. MAXIMUM ON CENTER Cetlificote of Authorization; #9090
DRILLI S PILOT HOLES SPACING OF 24~ 3/4" WITH 4-1/2" MINIMUM SPACING o
G T HO 200 AND 3-1/2" MINIMUM EDGE DISTANCE. L. Dowid Rice
LOCATIONS SHOWM IN THE *  STEEL ROOF STRUGTURE Registration No: 50923
DIAGRAM. SEE TABLE FOR EQUALLY SHOULD BE INTO MINIMUM
MINIMUM QUANTITY OF SPACED 12 GA OR 1/8" THICK STEEL MEMBER.
~ © BEnelacesaneon o pew
~ ) MINIMUM THREA o -
CURB SIDE. 125 ENGAGEMENT OF _1084°. FASTENERS TO BE EQUALLY R W=, Twin City Fan Companies, Ltd.
SPACED, MAXIMUM ON CENTER SPACING OF 24-3/4" 1/18/2011 Acrovent ® Frber-dAire ® TC Axial 8 TC Ventco ® Tiwin City Fan & Blower
WITH 11/16" MINIMUM SPACING AND 3/8" MINIMUM RO BY - Mdentber of Al Moyeucat and Conirol fissoziatien
EDGE DISTANCE. BAM 5959 Trentan Lane - Minncapolis, MN 55442-3238
* TIMBER ROOF STRUCTURE OATE
SHOULD BEMINMUMS.G=055 o BCRU/BCRUR/DCRU/DCRUR SUMMARY §‘
. 10zl - N S
EQUIVALENT. SCREWS SHALL HAVE A MINIMUM THREAD | VAMI-DADE APPROVAL s
PENETRATION OF 1-1/2". FASTENERS TO BE EQUALLY —IONE 2 =
B 3/11/2011 | Jaw | sam| REMOVED BORDE/ENDUREX MODEL, W 372 NI SPAGTI R MINIMOM e e TGETS Dgga " JURN IR R £
‘ ADDED MATERIAL THICKNESS CHARTS d f 34" EDGE ) MD1006 (8410 B =
reviEon T oate Tov Ton S=SRIPTION DISTANCE AND 1.216" MINIMUM END DISTANCE. :m it ::m J L %
= - -t
7 A0
4.7 o \
J:‘;hé."onﬁl}lg %% \\\
1y ONAL e
LTI

Mar. 22, 2011



MIN, MATERIAL: ) MIN. MATERIAL:
ALUMINUM 3003-H14 MIN, MATERIAL: 040 ALUMIN
ALUMINUM 3003-H14 . Ui
(SEE CHART FOR THICKNESS) (SEE CHART FOR THICKNESS)
$ 63.00 MAX @ 50.08 MAX
MIN. MATERIAL: ALUMINUM
(SEE CHART FOR THICKNESS)
D 42.27 MAX
MOTOR HOUSING
CURB CAP LID SHROUD BAND
1.25 ™
CURB SUPPORT
I e o/
- - ) : 2 VANIZED
- 8;: E_gggg 188 ALUMINUM 3003-H14 1.25 :\Z:)f(i
e 091B-093B | ' s
110B 110B 043 . ) 12.00 3
- 120B .- 1208 i 063 |14 GA (079} | MAX - \
- 140B/BHP 1408 | _ _ MIN. MATERIAL: GALVANIZED
160B/BMP/BHP 140B 032 : o : : S . . - {SEE CHART FOR THICKNESS)
18GBIAP/BHP | 180B ' , o TIEDOWN BRACKET . . -, HORIZONTAL SUPPORT . SUPPORT R ,
1608 B 12 GA [.108) POST RICE
210B/BHP - 080 = T oa
540B/BHP - 080 14 GA (.079) ENGINEERING
300B - 12 GA (.108] 105 School Creek Trail
300BHP - 125 [14 GA (.079) Luxemburg, Wi 54217
360B/BHP - 040 12 GA(.108) Phone: 920.845.1042
MIN. MATERIAL: Fax:  920.845.1048
/ 1/8" STAINLESS STEEL CABLE www fice-inc.com
{7X7OR7X19)
Florida Firm No: F-01000005041
i T Certificate of Authorization: #9090
41,63 MAX L. David Rice
TIE DOWN GABLE Registration No: 50923
(SIZE 180 AND LARGER)
[DRAWN BY | .
] Twin City Fan Companies, Lid.
1/18/201¢ Acrovent @ Fibor-Alre 8 TC Axial @ TC Ventco ® Twin City Fan & Blower
R Ry Momber of Air M and Contrel Associalic
SAM 3959 Trenion Lane - Minneapolis, MN 53442-3238
DATE
a2 ™ BCRU/BGRUR/DCRU/DCRUR SUMMARY S
MIAMI-DADE APPROVAL 5
REMOVED BCRDE/ENDUREX MODEL, . } ) DEFAAT TOLERANCES SCALE DRAWING NO. SHEET TEM REV, —
B BM1/2011 | JAW | SAM| ADDED MATERIAL THICKNESS GHARTS e o =
vieen ey Toric s : e NTS|BS MD1006 |2 of 10 B :
-a o s, c“‘
e OR A D3 e N
,’ J‘ /'o'mnmlll‘ £$Q§ \\\\
LT T

Mar, 22, 2011



SHROUD FLAT WASHER, 1/4"

SCREW, DRILL SUPPORT POST

1/4-14 X 3/4" LG
SCREW, TAPTITE
1/4-14 X 3/4" LG

FLAT WASHER, 1/4"
SEALING WASHER
5/16"1.D. X 1" Q.D.

SCREW, TAPTITE
5/16-18 X 1" LG

\ MOTOR HOUSING BAND
RIVET, 3/16 X 7/32 LG.—

SCREW, TAPTITE
1/4-20 X 3/4" LG

NUT, WHIZLOC
1/4-20 ZP

TIE-DOWN ASSEMBLY—""

HORIZONTAL
SUPPORT

FLAT WASHER, 1/4"

SCREW, DRIL-FLEX
#12-14

CLIP, WIRE GUARD

HORIZONTAL
SUPPORT

SHROUD—/

MOUNTING CLIP

NUT, WHIZLOC
5/16-18 ZP

SCREW, DRILL
#10-32 X 1/2" LG

SCREW, TAPTITE
5/16-18 X 3/4" LG

SUPPORT POST

LID

SCREW, TAPTITE
1/4-20 X 3/4" LG

FLAT WASHER, 1/4"

MOTOR HOUSING BAND—_-

MOTOR DECK
PLATE

SCREW, TAPTITE
5M16-18 X 1" LG

DRAWN BY
W pW > Twin City Fan Companies, Ltd.
1/18/2011 Aerovent @ Fiber-Aire ® TC Axial ® TC Ventco ® Twin City Fan & Blower

CHKD BY Member of Air Movement and Control Association

SAM 5959 Tremton Lane - Minneapolis, MN 55442-3238
DATE .

TITLE N
BN BCRU/BCRUR/DCRU/DCRUR SUMMARY
MIAMI-DADE APPROVAL

- ASME Y14.5 2009 i

DEFAULT TOLERANCES

REMOVED BCRDE/ENDUREX MODEL,
B 3/11/2011 }JAW [ SAM| ADDED MATERIAL THICKNESS CHARTS

UNLESS GTHERWISE
SPECIFIED

REV | ECN| DATE BY | CHK DESCRIPTION

LINEAR ANGULA|
0.0 +/-0040 0.0 +/
0.00 +/-0.020 0.00 +'.:

H
i
0
0.000 +/-0.010 0.000 +/- 0.

057
L 0.3

SCALE

NTS|AS MD1006

DRAWING NO, SHEET ITEM

10 of 10

_ REV.

ENGINEERING
105 School Creek Tiail
Luxemburg, WI 54217
Phone: 920.845.1042
Fax: 920.845.1048
www rice-inc.com

Florida Firm Ne: F-01000005061
Certificate of Authorization: #9090
L. David Rice

Registration No: 50923

o
ocan,,"' 0 R “ %
6‘/0"’"““ e*\\\\"\
1y, YNAL B
T
Mar. 22, 2011



